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- Direction : Answer the following questions by selecting the most appropriafe oplion.
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Who was the Czar of Russia during
October Revolution ?

(1) Vladimir Lenin

(2) Nicholas-II

(3) Alexander Kerensky

. (4) Nicholas-I

"Indira Sawhney and others Vs. Union

of India" case is related to :

(1) OBC reservation

(2) Abolition  of
scheduled caste

(3) Women protection

(4) Rights of working women

reservation  of

Read the following sentences carefully :
I. The two Houses of Parliament of
India do not have the same powers.

IL It is because of this reason the

terminology “"upper chamber" and
"lower = chamber" s
Constitution of India.
Choose the correct option :
(1) Iliscorrect and I is incorrect -
(2) Iiscorrect and II is incorrect
(3) BothIand Il are correct
(4) BothIand I are incorrect

Which among the following is mor an
example of Intermountane Plateaus ?
(1) Tibet Platcau

(2) Mexican Platcau

(3) Deccan Trap

(4) Platcau of Bolivia and Peru
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g5, Production possibilities curve is also
known as :
(1) Indifference Curve
(2) Demand Curve
(3) Supply Curve
(4) Transformation Curve

What is LC.O.R.?
Change in Capital
Change in Production

(1

Change in Income
Change in Capital
Change in Income _
Change in Consumption
Change in Production
Change in Capital

(2)

(&)

@

2 }
97. Rani Laxmibai was
;) "

g

defeated and killed

in _
(1) June, 1757 (2) June, 1858
@) July, 1757 . (4) July, 1858

The founder of Hoa Hao Movement is :
(1) Huynh Phu So

(2) Aung San Suu Kyi

(3) Mao Zedong

(4) Faan Boi Chau

99. What is the difference between GNP

and GDP ?

(1) Excess of indirect taxes. over
subsidies

(2) Depreciation

(3) Excess of subsidies over indirect axes

(4) Net factor income from abroad
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In India the 'No-confidence' motion

against the central government :

(1) Can be presented cither in Lok
Sabha or Rajya Sabha. .

(2) Can be presented only in the Lok
Sabha.

(3) Can be presented only in the Rajya

Sabha.

(4) Can be presented by the largest

party of the opposition in Lok Sabha.

Who was the founder of Swaraj Party ?

(1) C.R.Das
(2) B.R. Ambedkar
(3) 1.L.Nehru

(4) M. K. Gandhi

Read the following sentences carefully :

[. International Monetary Fund (IMF)
is one of the biggest moneylenders
for any country in the world.

IL. Tts all the member states have equal
voling rights.

Choose the correct npt:on :

(1) Tiscorrect and Il is incorrect

* (2) 1 isincorrect and Il is correct

103.

104,

(3) Bothland Il are incorrect
(4) BothIand Il are corréct

In the Union Budget of India, profits
from public _sector undertakings are
taken under !

(1) Fiscal deficit

(2) Planned expenditure

(3) Capital receipts

(4) Revenue receipts

Economic sum:y is published by :
(1) Planning Commission

(2) Indian Statistical Institute
(3) RBI

(4) Ministry of Finance
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(3) F Layer

"Kennelly-Heaviside' layer in Jonosphere
is: s
(1) D Layer (2) E Layer
(4) G Layer
From the following which country was

the last to adopt the Universal Aduly
Franchise ?

(1) India

(2) South Africa \
(3) United State of America
(4) Germany '

Read the following statements carefully :
I. The Chief Election Comimissioner

(CEC) is appointed by the President
of India.

I, The Chief Election Commissioner

(CEC) is answerable 1o the President.
Choose the correct uptic:-n. : SN

1 4
(1) Bothland Il are correct 3
(2) Bothl and II areincorrect -

. (3) liscorrect and 11 is incorrect

(4) '1is incorrect and Il is cuprm

'ENSO' event is ﬁsuci;afed with :
(1) Tourism o
(2) Trade

(3) Transport

(4) Indian Monsoon

What is the name of the book written by
Montesquieu ? ’
(1) The Social Contract
(2) The Spirit of Laws
(3) Das Capital

(4) Treatise on Tolerance

;;Ei



W TR 1A el LT R

110. &g ot o akem @ gEOW
gy
.'44{,193’ (2) 1918
(3) 1919 (4) 1920

.111.%ﬁrﬁaﬂﬂ\wméﬁh,—ﬂqum$

gae H €9 F g ?
(1) 1801 _&; 1802
(3) 1803 (4) 1804

12 frtifee et F § T 7 E 7

(1) % THIHT I, B wiE #5¢
i Mo dcc oy g

2) ER A @ g ot o s
g oFme Al B 81— —

m%%em t!ﬂfﬁzﬁnmmnmﬁmraﬁr

Wm%ﬁ*ﬂ“ﬂ“*

13, ¥R F2f R & 7
(1) Pa § (2) I R A
a3y TaE & (4) 7= =By §

114. 55° ofyad 3w Yar #1 gftga am=ag
@f 550 qdf Za
(2) 125° gt AR

(3) 125° afyendt et
(4) 155° gdi =T

ol @ RN B 9T g7 @ e
B S varfea e A @9 9T @

Mgasra
(3) Hrefas
Level-2/4212

115.

(2) FATd
@) g

(23]

113.

114.

115.

110.

111.

112,

"(2) Under

www.makemyexam.in --Powered-by-IBT.---- .- —

[D]
In which year Khilafat Movement was
slarted 7
(1) 1921 (2) 1918
(3) 1919 (4) 1920
In which year Nepoleon Bonaparte
crowned himself as emperor of France 7-
(1) 1801 (2) 1802
(3) 1803 (4) 1804
Which of the following statement is

incorrect 7

(1) A monopolist may restrict the
output and rises the price.

monopoly there is no
difference between a firm and an
industry.

(3) Product differentiation is peculiar
to monopolistic competition.

(4) Commodities offered for sale under
a perfect competition will be
heterogeneous.

Where Champaran is situated 7
(1) Gujarat (2) Uttar Pradesh
(3) . Bihar (4) Madhya Pradesh

The antipode meridian of 355° West
meridian is :

(1) 55° East longitude

(2) 125° East longitude

(3) 125° West longitude

(4) 155° East longitude

The * oceanic current flowing at
southemmost edge of Africa from
North towards South is :

(1) Agulhas  (2) Canarry

(3) Mozambique (4) Benguela
P.T.0.
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Whose statement is this, "I shall strive
for a constitution which will release
India from all thralldom and patronage

» 1 shall work for an’ India in
whlch lhc poorest shall feel that it is
their country” ?

(1) B.R, Ambedkar
(2) Jawaharlal Nchru
(3) Dr. Rajendra Prasad
(4) Mahatma Gandhi

Match the following and sc_lect'ihe
correct answer by using codes Biven
below :

_ Volcano Country
' (A) Stamboli (i) Tanzania
(B) Cotapaxi  (i1) Italy .
(C) Mt Popa (i) Equador
(D) Kilimanjaro (iv) Myanmar
Codes : ‘
A'B C D

() i i il v

() i i doav

() @i i v

@) i i iv i -
Economic planning is related to :

(1) Socialist Economy
(2) Mixed Economy

(3) Both Socialist and Mixed Economy
(4) None of these

Which one of the following is nof
matched correctly ?

Landforms Forming Agents
(1) Cirques - Glaciers
(2) Peniplain * - Rivers:
(3) Loes - Wind
(4) Nunatak - Sea waves

o
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When larth, Sun and Moon are at
quadrature, which tides will occur ?

(1) Spring tide (2) Diurnal tide

(3) Mixed tide (4) Neap tide

Match the following :

(i) Gurjara (a) Western Deccan
Pratihar

(ii) Rashtrakutas (b) Bengal

(iii) Palas (¢) Gujarat and Rajasthan

(iv) Cholas (d) Tamil Nadu

(1) (i) (e) (i1) (a) (iii) (b) (iv) (d)

(2) (i) (a) (ii) (b) (ii1) (c) (iv) (d)

(3) (i) (b) (ii) (c) (iii) (a) (iv) (d)

(4) (i) (d) (ii) (b) (iii) (a) (iv) (c)

Which one of the following pairs is not
matched correctly ?

- Crop ' Leading Producing
State (India)
(1) Tea - Assam
(@) Jute -  WestBengal
(3) Coffte -  Kamataka
(4) Rubber -  Tamil Nadu

Which of the following is a sub_;ect of
concurrent list ?

(1) Communications

(2) Computer sofiware

(3) Police

. (4) ' Marriage

The basis of the creation of new states
by the first State

Commission  formed  after the
Independence of India was :

(1) Culture

(2) Language

(3) Religion
(4) Geographical conditions

P.T.O.
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find out the arcas in which dcmomlm
ﬁq_;;’nlg_bmnl been very sucmssrul
in:
(N
(2)
(3)

maintaining peace and order
reducing ecconomic incqualitics
maintaining dignity and freedom of
the citizens

maintaining accommodation of
social diversity

()

Which cconomist is mof relatéd 1o

IndifTerence curve method 7
(1) Hicks (2) Parcto
(3) Allen (4) Marshall

As per Census 2011, what is the

correct, increasing order of three lowest

scx ratio States of India ?

(1) Haryana < Sikkim < Punjab

(2) Haryana < Jammu & Kashmir <
Sikkim :

(3) Haryana < Sikkim < Jammu &
Kashmir

(4) Haryana < Punjab < Sikkim

"Trade Cycle" is nof related to :
(1) Price level in cconomy

(2) Production level -

(3) Employment level _
(4) Political party in guvemmen[

In [ndlﬂ.., scats arc kept reserved in lccnl
sell governing bodies for :

(1) only for scheduled castes |
(2)
(3)

unly for women

unly for scheduled castes, schedule
tribes and women.

scheduled casles, scheduled tribes,
other backward classes and women

4)
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130. What was the name of 'Political
Alliance' formed in Nepal in 2006 for

131.

132.

133,

134.

136,

the support of democracy ?
(1) For democracy

(2) Hope

(3) Seven Party Alliance
(4) Demaocracy for Peace

Who wrote Prayag Prashasti 7
(1) Harishena

(2) Kalhan

(3) Harshavardhana

(4) Kalidas

Calculate the Mode'

7,12,8,5,6,4,9,10,8,9,7,9,6,5,9

(1) 15 (2) 9
(€) e 38 @ 11

The mother of Shah Jahan was :
(1) Kachhwaha Princess

(2) Sisodiya Princess

(3) Rathore Princess

(4) Chauhan Princess

Typhoon originates at :

(1) North Atlantic Ocean . -
(2) North-West Pacific Ocean
(3) South Indian Ocean

(4) South Pacific Ocean

Who composed 'Harshacharita’ ?
(3) Banbhatta  (4) Ravikirti

Wha is the value of price elasticity of
demand for the rectangular hyperbola

demand curve ?
(1) e>1 (2) e<1
) e=1 @) e=0

P.T.O.
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_ 137. Ruoziya was the daughter of :
137. W 0 o 'ﬂiﬂ; a (1) Qutubuddin Aibak
( @_ﬁd“:‘qﬁ (2) Khizr Khan
@) et & (3) Bahlol Lodi
() i A B (4) Shamsuddin Mtutmish
)-SR TR 2l
' - . istic of -
- Frdeen & 138. 'Bhur' Topography is ncharach:-!ﬂﬂlcn ¢
138. "fF ;g@g :: s e A (1) The upper and middle Ganga plains
@) T bl @) (2) i‘hc Brah'maputm plains
(3) e ¥ : (3) Tista Plain |
(4) g e A (4) The Sundarban Delta _
139. wd % g=mW @ WA YAEAE | 139, What is the highest and lowest
R 2 7 : _ population density of India ?
\.(.n/m—rﬂ (11297) X &M= (1) Delhi (11297) and Arunachal
729 (17) ‘ Pradesh (17) i
) R~ (9768) @i amvugai hS (2) Delhi (9768) and  Arunachal
RN (17 T "4 ' Pradesh (171) *
(3) W (1122) &R ArTerE (212). (3) Maharashtra (1122) and Nagaland
(212)
(4) Rl (14444) 30T TFmas (22) | (4) Delhi (14444) and Nagaland (22)
140. FFE-Sa-fe= @ oEF € ¢ | 140. Who wrote Kitab-ul-Hind ?
(1) s gad _ ' (1) Amir Khusrow
3G G - (2) Abul Fazal
(3) FAA-g 1 - ; (3) Al-Biruni
6)) R &69 SEad! e (4) Amir Hasan Dehlvi
141, ;ﬂ: o M @ R Py e 141. Which is the sccond rule of H. H.
! Gossen ?
(1) Hrre Swafr o fram (1) Law of Diminishing Marginal Utility
@) w9 e S Frow (2) Law of Equi Marginal Utility
¢ 43" ITVERT # FE (3) Consumer surplus
(4) SRl orgowt & P (4) Law of variable proportions

Level-2/4212
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ofemin o\
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142, Most of the inscription of Ashoka were
wrillen in 8
(1) Pali (2) Hindi
' (3) Sanskrit (4) Prakrit
143. When did the IMF start functioning ?
(1) 1945 - (2) 1946
(3) 1947 ‘(4) 1948
144, The most powerful factor behind the
"Rights" is :

(1) Religious traditions
(2) Beliefs of political partics
(3) Recognition by society

(4) Emotional claims

Which one of the following pair is not
maiched correcﬂy ?

River Valley Projects  River
(1) Shivasamudram Kaveri
(2) Pochampad Godavari
(3) Kakrapar - Narmada
(4) Ukai. Tapi
- 146. The fundamental base of "Sexual

division of labour" is :

‘ (1) Biological structure
(2) Political conventions
(3) Stercotype belicfs

(4) Uncertain social roles

P.T.0.
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447, Match List-I with List-IT and sclect the
correct answer by using cedes given

- below :
i List-1 List-Tl
(Forests) (Region)
(A) Mangrove (i) Coromandal Coast
(B) Tropical (i) Ganga-Brahmaputra
evergreen delta
(C) Tropical Dry (iii) Nilgiri and
- evergreen Annamalai Hills
(D) ' Wet temperate (iv) Western Ghats
Codes :
A B C D
(1) i i iv i
(2) it i iv il

@) i iv i i
L@ v i i -

'r 148. In India, the political parties are given

- 'recognition’ by :

~ (1), The President
. (2) Parliament
(3) Election Commission
(4) All Party Parliamentary Committee

149. ' A consumer is in equilibrium ‘when
marginal utilities are : '

(2) Equal

(4) ‘Increasing

150, "Manikafan' ~(Himachal  Pradesh) is
known for : ' '

- (1) Minimum

(3) Highest

(1) St & g (1) Solar Energy

g I & g (2)° Wind Energy
(3) sorda S & (3) Geothermal Energy
(4) safE St 3 R (4) Atomic Energy
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